v 5-3 WA
C— W
=1CE =

}
R
:

i L d7y: Fb LT R B AR R L3

FA%E Boy 1




5-3 wGiRE

FH, 37 98
1 5 A
‘ ){_:7\ EE?F_'—JH
& H 2%/

) HipEREE R HLfhr

_F
E = —
q

FaE #HhLy




5-3 wGiRE

E = —
q

¢ JEX: B IER S AT BT R B I

& Bfr: N-C,V-m'

@ FR I FAT O] BRI HL

® B2 HIZ -

= 4




5-3 Wk A
FeL R FEL 37 9

_ F 1
1 QQO E:—: %ér
q, 4me, r

F = e
2
47[80 4 g

FaE #HhLy




5-3 W, 355%E

— -

Y IR A
& T RHIHEY
- 1 ¢q,0

F, ¢,
dne,

1

> F,




3“%@ﬁﬁ§ﬁﬁ%%%

E= |dE= I4areo

BRBEE e dg=pdV

5% Huk




3“%@ﬁﬁ§ﬁﬁ%%%

E= |dE= I4areo

BHHHE o dg-ods




T e R 5

B faE= o

SUE L




5-3 wGiRE

U mERTR R
B BT
BBk EE (BEE) p=q7

FAE #HLY




5-3 wGiRE

(1) HZERE E— R BEG®E

. 1 R _
E = 1 o1 _ 4

dne, (x— /2) - 4—7[50(x+r0/2)2i

+E =1 LZOT
4, | ( /4)




5-3 wGiRE




| 5-3 WHIRE
(2) B EL E— RSB 8RE

FAE #HWiy




5-3 W RAE
{1 IE BT 385 A 7E 242 0 R IE 21

E. BB IR L K OF T BRI
| G AR — PR R

5i% Hoy




5-3 wGiRE

1 Adl
dg=nrdl dE=—""

dme, r

HT E, = J}dEL =0

- 4ne,(x* +R*)"?

5i% Hoy




5-3 wGiRE

(1) x>>R

(2) x=0
E =0

3) ¥E_,
d

x=1t—R

5i% Hoy




5-3 WIHRE

B2 H—FRAR, A A0 K HEE
#, HEMEEE N, RKELSHOLHER
 REREL AR - AR EGEE.

Fi% #Hhy




5-3 wGiRE

f# o=q/nR> dg=o2mnrdr
xdg 9 xrdr

' _47r80(x2+r2)3/2 - e, (x* +77)"




5-3 wGiRE

1 1

(_
U

x2+R2)




REHANT—F:
5-2 B RAE
5-3 WG IRE
-4 WY REBEE ZHPFEE

*5-5 5B I AR b F AT 21
5-6 Ew eIk E  dkge
5-7 v 3

FAE #Hhay




